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00 14.9 0.0 0.0 0.0 0.0 00
26 2.1 1.6 44 2.7 1.9 16
00 84.0 0.0 39.1 53.3 50.0 45.5
37 2.1 3.8 22 1.7 2.1 17
1
2. X +
2t/10a 3-5t/10a 2-3t/10a
3t/10a 3-4t/10a 3-5t/10a 2-3t/10a
0
120 230 135 210 80 90 70 140
15,348 | 29,417 | 17,267 | 26,859 | 10,232 | 11,511 | 8,953 |[17,906
14,069 9,593 1,279 8,953
5,100 5,500 4,050 2,400
= 8,969 4,093 -2771 6,553
1. x = x (300/365)
2 11 13
3 = x 10a
(]
hal] 020 0.10 0.15 0.09 0.32 0.20 0.31 0.30
ha 016 017 0.30 0.34
t] 3112 | 6113 | 2700 | 5268 | 2223 | 2601 | 1979 | 3.423
47 60 74 47 69 49 81 76
26 38 39 12
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